EARAZROREIERT — 2 N—XBISY —F 2016598 29H (A) 7MEI#AIE4H

BN - r v E 7 A FUBR VS R2® [z 8 |awml — |5 @ o s
[A&4£] 1 7% :2,500,000 @ ~ 23 :750,000 @ . 33 :500,000  ~ 4 3% :300,000 . 5 7 :200,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
4 2 | HERE 1:16.3 2-2-2 38.5| — 4 449 | 1E2AREER (AAHE)
Ko a—s 54.0 3 (o | 9 To9 25370
X:a-T>J0> B:Yasr HREHHESS
o= = 4 2 | ESE 1:16.5 1-1-1 | 38.9| — 3 | 434 |fEAAAC (1)
A—'El rjI'f KZ3> . ‘ 54.0 ) “1) R %
gL LINT Ry IR BiFEY hE—X WO #E
SFIAR—32H it 2 g’gf?giﬁ (12117/20> 6-7-7 |38.0| — 6 gz) ?\Hgi‘— (1)
RAN=3I2TKR—L B:TFTTFa2TT714 b0 JRSHEE R4S
PSS ft 2 | WEER 1:17.1 433 [39.1| — 1 416 | PREA (#A18)
275y bk . 54.0 o =
R:BALINT Ry IR 21 A HAT A RS
i L H 4 2 | HTHESR 1:17.7 7-5-5 39.2| — 2 a7 | EMEE (BafE)
5l7l7| 7Ly 54.0 @ Gy |FEEE
L:xrTrobyw—L B:vaHE2 HET77— L
¢ 4 2 | EISHEAER 1:18.3 556 |39.8| — 5 416 | BT (fafE)
6155 771'—7|:!—/\— 52.0 3) (-4) Bl
Rib—E>TIA b B -t ITyF HREEH TR7477—L4
o . . HH . -3 - 1EREEAL (Ma1E)
; 3| KLy kO-X o2 | B 1.(149).1 3-3-4 | 41.1 7 3227) e
R:2&2-U>70-X B:AXA)>TN—-F KEH
® I —F—EBIERL
|2=3F=
2ol=7r= 1,4,3,6,5,2,7
da=3r= 1,4,(3,6),(5,7),2
40—+ — 1,4,6,3,7,5,2
[ N3
H OB 4 1,060 714K 1-4 570M B = 1-4 1,820/ 3EHE 1-2-4 6,790/
8 B 4 390M 2-4 1,630/ B H 4-1 4,890M K31 4-1-2 43,730
1 320/ 1-2 880F

ABICOVWTRDTEEERROODE. TR LIV,




